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NaCl

▪

▪HCl + NaOH  NaCl + H2O

NH4Cl

▪

▪HCl + NH3  NH4Cl

CH3COONa

▪

▪CH3COOH + NaOH  CH3COONa + H2O

Cl-

Na+

NH4ClpH < 725ºC

▪HClNH3

▪

▪

▪pH7

▪

▪NH4Cl
𝑯𝟐𝑶

NH4
+ + Cl-

▪2H2O ⇌ H3O
+ + OH-

▪NH4
+ + H2O ⇌ NH3 + H3O

+

CH3COONapH > 725ºC

▪NaOHCH3COOH

▪

▪

▪pH7

▪

▪CH3COONa
𝑯𝟐𝑶

CH3COO- + Na+

▪2H2O ⇌ H3O
+ + OH-

▪CH3COO- + H2O ⇌ CH3COOH + OH-
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NaClpH = 7 25ºC

▪HClNaOH

▪

▪

▪pH725ºC

▪NaCl   
𝑯𝟐𝑶

Na+ + Cl-

▪2H2O ⇌ H3O
+ + OH-

▪CH3COONa  
𝑯𝟐𝑶

CH3COO- + Na+

▪2H2O ⇌H3O
+ + OH-

▪CH3COO- + H2O ⇌ CH3COOH + OH-

▪[OH-][H3O
+]

▪(NH4)2SO4  

𝑯𝟐𝑶
2NH4

+ + SO4
2-

▪2H2O ⇌H3O
+ + OH-

▪NH4
+ + H2O ⇌H3O

+ + NH3

▪[H3O
+][OH-]

pH 25ºC

pH 25ºC

pH = 7 25ºC

▪NaBr
𝑯𝟐𝑶

Na+ + Br -

▪HBr

NaOH

▪[H3O
+][OH-]

IIMn(OH)2

▪Mn(OH)2(s) ⇌ Mn2+
(aq) + 2OH-

(aq)

▪H3O
+

(aq) + OH-
(aq) ⇌ 2H2O(l)

▪

▪

▪[OH-]

▪QKsp

CaCO3

▪CaCO3(s) ⇌ Ca2+
(aq) + CO3

2-
(aq)

▪2H3O
+

(aq) + CO3
2-

(aq) ⇌H2CO3(aq) + 2H2O(l)

▪

▪

▪[CO3
2-]

▪QKsp
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IICu(OH)2

▪Cu(OH)2(s) ⇌Cu2+
(aq) + 2OH-

(aq)

▪4 NH3(aq) + Cu2+
(aq) → [Cu(NH3)4]

2+

▪II

▪

▪[Cu2+]

▪QKsp

AgCl

▪AgCl(s) ⇌ Ag+
(aq) + Cl-

(aq)

▪2 NH3(aq) + Ag+
(aq) → [Ag(NH3)2]

+

▪

▪

▪[Ag+]

▪QKsp

▪AgCl(s) ⇌ Ag+
(aq) + Cl-

(aq)

▪NaCl(s) → Na+
(aq) + Cl-

(aq)

▪

▪QKsp

▪AgCl

▪AgCl(s) ⇌ Ag+
(aq) + Cl-

(aq)

▪AgNO3(s) → Ag+
(aq) + NO3

-
(aq)

▪

▪QKsp

▪AgCl
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▪
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▪
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CH3CH2ONa     +  H2O  CH3CH2OH   +    NaOH

– OH

▪

▪

▪
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C2H5 – CH2– OHCH3CH2 – OH

▪

▪

HO - CH2 – CH2 – OH

▪

▪

▪O ─ H

▪C ─ O

▪OHH

▪OHH

CH3-ONa + H2O   CH3OH + NaOH
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▪

▪

▪
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▪

▪

H-CHO     +     [2Ag+ + 3OH-]       H-COO- +     2H2O    +      2Ag(s)

▪C6H5-CHO

▪C6H5-CH2CHO

CH3CH2CH3CH3CHO

42ºC20ºC

▪

▪

▪

CH3-CHO         +    [2Cu2+ + 5OH-]       CH3-COO- +    Cu2O    +    3H2O

14

▪

▪

▪

▪
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▪

▪

▪

▪

▪



U U L A . C O M

(UV)

C6H6 + Br2 C6H5Br + HBr

CH3− CH2−Cl + NaOH    CH3 − CH2−OH + NaCl

++

2CH3CH2OH + 2Na 2CH3CH2ONa + H2

CH3CH2ONa     +  H2O  CH3CH2OH   +    NaOH
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RCH2OH + 2[O] RCOOH + H2O

CH3CH2OH + [O] H2O + CH3CHO

CH3CHO + [O]  CH3COOH

RCH2OH + [O] H2O + RCHO

RCHO + [O]  RCOOH

CH3CH2OH + 2[O] H2O + CH3COOH

▪300 C

300 C

CH3OH H2  + H─ CHOCu

300ºC

▪
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140 C

140ºC
2CH3CH2–OH                           CH3CH2-O-CH2CH3 + H2O

H2SO
4

140C

180 C

CH3-CH2–OH                           CH2=CH2 + H2O
180ºC

H2SO4

180C

C2H5-OH    +    HCl  C2H5-Cl   +    H2O

CH3CH2OH H2 + CH3CHOCu

300ºC
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CH3-CHO         +    [2Cu2+ + 5OH-]       CH3−COO
-

+    Cu2O    +    3H2O

H-CHO     +     [2Ag+ + 3OH-]       H-COO- +     2H2O    +      2Ag(s)

R-CH2-OH     +     2[O]      H2O      +      RCOOH        

CH3-OH     +     2[O]      H2O      +      HCOOH     

C6H5-CHO     +     [O]      C6H5COOH

RCOOH + M  RCOOM + H2

RCOOH + MOH  RCOOM + H2O

RCOOH + M2CO3 RCOOM + H2O + CO2

2HCOOH + 2Na  2HCOONa + H2

CH3COOH + NaOH  CH3COONa + H2O 

2HCOOH + Na2CO3  2HCOONa + H2O + CO2
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